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Correct Answer:- Option-C
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Correct Answer:- Option-D
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Correct Answer:- Option-A
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Correct Answer:- Option-D
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B:-2010
C:-2007
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Correct Answer:- Option-A
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Correct Answer:- Option-D
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Correct Answer:- Option-D
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Correct Answer:- Option-B
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Correct Answer:- Option-B
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Correct Answer:- Option-A
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C:-seos
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Correct Answer:- Option-B

Question20:-txs 203, =

Correct Answer:- Option-C
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Correct Answer:- Option-B
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Correct Answer:- Option-A
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Correct Answer:- Option-C
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A:-ZoWmTE FVREET

Correct Answer:- Option-B
Question26:-I wish

A:-she knew my name

B:-she knows my name

C:-she has known my name

D:-she is knowing my name

Correct Answer:- Option-A
Question27:-1 would rather accept the proposal

A:-not to look for another one

B:-when look for another one

C:-than look for another one

D:-than to look for another one

Correct Answer:- Option-C
Question28:-One should work intelligently,

A:-should they

B:-shouldn't one

C:-should one

D:-shouldn't they

Correct Answer:- Option-B

Question29:-We had better using it.

A:-avoid

B:-to avoid
C:-avoiding
D:-avoided

Correct Answer:- Option-A

Question30:-She her legal battle against corruption for decades.

A:-is pursuing

B:-pursues

C:-has been pursuing

D:-have pursued

Correct Answer:- Option-C
Question31:-The tourist exclaimed that

A:-how amazing Kerala was

B:-how amazing was Kerala

C:-Kerala is very amazing

D:-Kerala was very amazing

Correct Answer:- Option-D

Question32:-Every employee should be conversant

A:-of

B:-with

C:-on

D:-for

Correct Answer:- Option-B
Question33:-Choose the correct sentence.

A:-Let them do it

B:-Let them doing it

the rules and and regulations of their organization.



C:-Let them to do it
D:-Let them have done it

Correct Answer:- Option-A

Question34:-The indirect speech form of "Don't break it".

A:-He asked me not break it
B:-He asked me not to break it

C:-He asked me do not break it

D:-He asked me it should not be broken

Correct Answer:- Option-B

Question35:-Choose the correct question form.

A:-What did make him angry?

B:-What him made angry?

C:-What was him made angry?

D:-What made him angry?

Correct Answer:- Option-D
Question36:-The problem was so difficult

A:-that she took a long time

B:-that she takes a long time

C:-that she has taken a long time

D:-that she will take a long time

Correct Answer:- Option-A

Question37:-You better take a firm decision.

A:-should
B:-must
C:-had
D:-have to

Correct Answer:- Option-C

Question38:-Those tools are no longer worth

A:-to use
B:-useful
C:-used

D:-using

Correct Answer:- Option-D

Question39:-They prefer organic mannures

A:-to

B:-than

C:-from

D:-rather

Correct Answer:- Option-A
Question40:-The profits had to be shared

A:-for

B:-within

C:-among

D:-with

Correct Answer:- Option-C
Question41:-Would you tell me

A:-which shirt will suit me more

B:-which shirt suits me more

C:-which shirt is suiting me more

D:-which shirt does suit me

to solve it.

chemical fertilisers.

the shareholders.



Correct Answer:- Option-B
Question42:-My friend was elected
A:-as president
B:-a president
C:-president
D:-for presedent
Correct Answer:- Option-C
Question43:-When he back, she will start cooking.
A:-coming
B:-comes
C:-will come
D:-may come
Correct Answer:- Option-B
Question44:-Is this tree that one?
A:-as tall as
B:-taller
C:-more tall
D:-as tall
Correct Answer:- Option-A
Question45:-He speaks he is a polyglot.
A-if
B:-whether
C:-as
D:-as if
Correct Answer:- Option-D
Question46:-She will be supported she changes her declared policies.
A:-as if
B:-unless
C:-whether
D:-neither
Correct Answer:- Option-B
Question47:-If only my father a millionnaire.
A-is
B:-will be
C:-would be
D:-were
Correct Answer:- Option-D
Question48:- they start, the earlier they will reach home.
A:-The more
B:-The sooner
C:-The more soon
D:-The soon
Correct Answer:- Option-B
Question49:-The antonym of 'aggravate' is
A:-aggregate
B:-segregate
C:-alleviate
D:-adduce
Correct Answer:- Option-C

Question50:-His son does not him at all.



A:-take after

B:-take to

C:-take away

D:-take off

Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-A
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Correct Answer:- Option-B
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Correct Answer:- Option-C
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Correct Answer:- Option-D
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Correct Answer:- Option-B
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Correct Answer:- Option-C

Question94:-TommeE wowsEd 03T T,

A:-T3e0 TAT0R,

Correct Answer:- Option-A

Question95:-m0 wmooF i3, NeSoRTo, WITZT 0IT?

Correct Answer:- Option-C
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Correct Answer:- Option-A
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